Money Problems

—

I buy three cans of cola for 80p each. How much have I spent altogether?

2. Ibuy a pack of pencils for £1 and a notebook for £1.50. How much have I spent altogether?

3. Henry buys two ice-creams for 70p each and a packet of crisps for 50p. How much has he
spent altogether?

4, How much have I spent altogether if I buy a book for £5 and two bouncy balls at
£1.50 each?

5. At a bake sale, Jenny buys four cakes that cost 20p each and one drink for 50p. How much
has she spent altogether?

6. Tickets to the school play cost £2 for adults and 50p for children. How much will it cost to
buy 2 adult tickets and 2 child tickets?

7. Joel buys four bananas for 30p each and one apple for 40p. How much has he
spent altogether?
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Money Problems

—

I buy a pen for £1.70 and a notepad for £3.20. How much have I spent altogether?

2. Ibuy three cakes for £1.86 each. How much have I spent altogether?

3. I bought one bike for £39.98 and one scooter for £9.78. How much have I spent altogether?

4. 1 bought two pairs of socks at £2.21 each and three bunches of flowers priced £4.70 each.
How much have I spent altogether?

5. I bought two jumpers priced at £15.60 each and four lollipops for 30p each. How much
have I spent altogether?

6. Sam and three of his friends bought a drink each for £1.75. How much did they
spend in total?

7. I bought one jumper for £13.00, one pair of shoes for £24.39 and a bag for £12.50. How
much did I spend altogether?
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Money Problems

1. John bought 3 brownies at a bake sale. If each brownie cost £0.25 and he paid with a
twenty pound note, how much change does he get?

2. Jenny bought 4 cans of pop at the shop. If each can cost her £1.60 and she paid with a
twenty pound note, how much change does she get back?

3. Harry bought 4 bunches of bananas at the greengrocers. Each bunch cost £0.79. How much
change would he get if he paid with a twenty pound note?

4, Julia got given a gift card for her birthday with £20 of store credit. She bought a dress that
cost £16.67 using the gift card. How much money does she have left on the gift card?

5. Paul bought a book from the book shop. If it cost £6.23, how much change would Paul get
back if he paid with a twenty pound note?

6. Helen bought an ornament from a gift shop. It cost £19.67. How much change will Helen
receive if she paid with a twenty pound note?

7. Annie bought 4 chocolate bars to give to her friends. Each one cost £1.43. How much
change will she receive if she pays with a twenty pound note?
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£2.40
£2.50
£1.90
£8.00
£1.30
£5.00

£1.60

L8 8 ¢

—

£19.25
£13.60
£16.84
£3.33
£13.77
£0.33

£14.28

Money Problems Answers

* %

1.

£490
£5.58
£49.76
£18.52
£32.40
£7.00

£49.89
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